




If the radius of a right circular cylinder is

decreased by 50% and its height is

increased by 60%, its volume will be

decreased by. यदि एक लम्ब वतृ्तीय बेलन की

दिज्या 50% कम कर िी जाए और इसकी ऊंचाई

60% बढा िी जाए, तो इसका आयतन दकतना कम

हो जाएगा।
1. 10%
2. 60%
3. 40%
4. 20%
5. None of the above



If the length of rectangle is increased

by 37(½)% and its breadth is

decreased by 20% . Find the %

change in area. यदि आयत की लंबाई में

37(1/2)% की वदृि की जाती है और इसकी

चौडाई में 20% की कमी की जाती ह।ै क्षेिफल

में% पररवततन ज्ञात कीदजए।

1.30%
2. 20%
3. 10%
4. 16.66%
None of the above



The length, breadth and height of a room in a

shape of a cuboid are increased by 10%, 20%

and 50% respectively. Find the percentage

change in the volume of cuboid. एक घनाभ के

आकार के एक कमरे की लंबाई, चौडाई और ऊंचाई में

क्रमशः 10%, 20% और 50% की वदृि की जाती ह।ै घनाभ

के आयतन में प्रदतशत पररवततन ज्ञात कीदजए

1.77%
2. 75%
3. 98%
4. 88%
5. none of the above



Initial length of a rectangular box is 20 cm.

This box is remade such that its length is

increased by 30% but its breadth is reduced

by 20%. If area is increased by 100 𝑐𝑚2

then find new area of box. एक आयताकार बॉक्स

की प्रारंदभक लंबाई 20 समेी ह।ै इस बॉक्स को इस तरह

बनाया गया है दक इसकी लंबाई में 30% की वदृि हुई है

लेदकन इसकी चौडाई 20% कम हो गई ह।ै यदि क्षेिफल

में 100 वगत सेमी की वदृि की जाती है तो बॉक्स का नया

क्षेिफल ज्ञात कीदजए। 1.2400
2.2600
3. 2700
4. 2500
5. None of the above



The radius of a sphere is increased

by 140%. By what percent will its

volume increase. एक गोले की दिज्या

में 140% की वदृि होती ह।ै इसके आयतन

में दकतने प्रदतशत की वदृि होगी।

1. 1282.4%
2. 1382.4%
3. 274.4%
4. 174.4%
5. None 



The radius of a circle is increased

so that its circumference increase

by 15%. The area of the circle

will increase by एक वतृ्त की दिज्या

को इस प्रकार बढा दिया जाता है दक

उसकी पररदि 15% बढ जाए। वतृ्त का

क्षेिफल दकतना बढ जाएगा?

(CDS 2017) 1. 31.25%
2. 33.25%
3. 32.25%
4. 34%
5. None 



In a cuboid , if length is increased by 63.63% and breadth is decreased by

41(2/3)% , then by how much % the height should be changed that the volume

remains constant. एक घनाभ में, यदि लंबाई में 63.63% की वदृि की जाती है और चौडाई में

41(2/3)% की कमी की जाती ह,ै तो आयतन दथिर रहने के दलए ऊंचाई में दकतना% पररवततन

दकया जाना चादहए। 1. 3.81%
2. 4.76%
3. 4.09%
4. 5.65%
5. None of the above



The radius of a cylinder is increased by 150% and its height is increased by 50%,

what is the % increase in its volume? एक बेलन की त्रिज्या में 150% की वृत्रि की जाती है

और इसकी ऊंचाई में 50% की वृत्रि की जाती है, इसके आयतन में त्रकतने प्रत्रतशत की वृत्रि होती है?

( CPO 2018) 1. 942.8%
2. 837.5%
3. 625.5%
4. 775.75%
5. None 



Volume of a sphere is increased by 119.7% when its radius is increased

then find % change in total surface area of sphere. एक गोले का आयतन

119.7% बढ़ जाता है जब उसकी त्रिज्या बढ़ा दी जाती है तो गोले के कुल सतह के्षि

में% पररवततन ज्ञात कीत्रजए। 1.61.29%

2. 82.25%

3. 69%

4. 96%



Volume of a cylinder is increased by 43% when its height is decreased

by 15 (5/13)% then find % change in curved surface area of a cylinder.

एक बेलन के आयतन में 43% की वृत्रि होती है जब इसकी ऊँचाई 15 (5/13)% कम

हो जाती है तो बेलन के वक्र पृष्ठीय के्षिफल में% पररवततन ज्ञात कीत्रजए।

1. 15%
2. 10%
3. 13%
4. 12%

























In a class 60% of the student pass in Hindi and 45% pass in Sanskrit. If 25% of them

pass in at least one subject, what percentage of the students fail in both the subjects ? एक

कक्षा में 60% छाि त्रहंदी में और 45% संस्कृत में उत्तीर्त होते हैं। यत्रद उनमें से 25% कम से कम एक त्रवषय

में उत्तीर्त होते हैं, तो त्रकतने प्रत्रतशत छाि दोनों त्रवषयों में अनुत्तीर्त होते हैं?

1.80%

2.75%

3.20%

4.25%



In a certain office, 72% of the workers prefer TEA and 44% prefer COFFEE. If each of them prefers

TEA and COFFEE and 40 likes both, the total number of workers in the office is ? एक त्रनत्रित कायातलय में,

72% कमतचारी TEA पसदं करते हैं और 44% COFFEE पसदं करते हैं। यत्रद उनमें से प्रत्येक चाय और कॉफी पसंद करता है

और 40 दोनों को पसंद करता है, तो कायातलय में कमतचाररयों की कुल संख्या है

A. 200

B. 250

C. 300

D. 320





























































Height of right circular cone is decreased by 6.25% and its radius is

decreases to 15 cm . Let the volume of cone is decreased by 40% . Radius

of new cone is how much lesser than previous cone? लम्ब वतृ्तीय शंकु की ऊँचाई

6.25% कम हो जाती है और इसकी दिज्या घटकर 15 सेमी हो जाती ह।ै माना शंकु के आयतन

में 40% की कमी की गई ह।ै नए शंकु की दिज्या दपछले शंकु से दकतनी कम ह?ै

1. 3cm
2. 5cm
3. 3.75 cm
4. 4 cm



If each side of a cube is increased by 10% the volume of the cube will

increase by? यत्रद त्रकसी घन की प्रत्येक भुजा को 10% बढ़ा त्रदया जाए तो घन का

आयतन त्रकतना बढ़ जाएगा?

(a) 30% (b) 10% (c) 33.1% (d) 25%



If the radius of a right circular cylinder is decreased by 20% while its height

is increased by 40%, then the percentage change in its volume will be:यदि

एक लम्ब वतृ्तीय बेलन की दिज्या में 20% की कमी की जाती है जबदक इसकी ऊँचाई में 40%

की वदृि की जाती ह,ै तो इसके आयतन में प्रदतशत पररवततन होगा:

(a) No increase or decrease

(b) 10.4% decrease

(c) 1.04% increase

(d) 10.4% increase



If the diameter of the base of a right circular cylinder is reduced by

33(1/3)% and its height is doubled, then the volume of the cylinder will:

यत्रद एक लम्ब वृत्तीय बेलन के आधार का व्यास 33(1/3)% कम कर त्रदया जाए और

उसकी ऊँचाई को दुगुना कर त्रदया जाए, तो बेलन का आयतन होगा:

(a) Decrease by 11(1/9) %

(b) (b) Increase by 11(1/9)%

(c) (c) Remain unchanged

(d) (d) increase by 1(1/9) %



If the circumference of a circle is increased by 8.33% then find %

change in its area? यत्रद त्रकसी वृत्त की पररत्रध में 8.33% की वृत्रि की जाती है,

तो उसके के्षिफल में % पररवततन ज्ञात कीत्रजए? a)17.36% b)18.29%

c)16.58% d)17.83%



Each side of a cube is increased by ‘k’ cm, such that its TSA is increased

by 69%, then find percentage change in its volume? एक घन की प्रत्येक भजुा

को 'k' सेमी बढा दिया जाता ह,ै जैसे दक उसका TSA 69% बढ जाता ह,ै तो उसके आयतन

में प्रदतशत पररवततन ज्ञात कीदजए? a)92% b)119.7% c)115% d)123%



When length of the cuboid is increased by 20%,the breadth of the cuboid is

increased by 40% and the height is decreases by 10%, the volume of the cuboid is

increased by? जब घनाभ की लंबाई 20% बढा िी जाती ह,ै घनाभ की चौडाई 40% बढा िी जाती है

और ऊंचाई 10% कम कर िी जाती ह,ै तो घनाभ का आयतन दकतना बढ जाता ह?ै

a)51.2% 

b)50% 

c)63.4% 

d)65.8%



The length, breadth and height of a cuboid are in the ratio 1:2:3. If they are increased

by 100%, 200% and 200% respectively then compared to the original volume the

increase in the volume of the cuboid will be एक घनाभ की लंबाई, चौडाई और ऊंचाई का

अनुपात 1:2:3 है। यत्रद उन्हें क्रमशः 100%, 200% और 200% बढ़ा त्रदया जाए तो मूल आयतन की

तुलना में घनाभ के आयतन में वृत्रि होगी

a)5times

b)18times

c)12times

d)17times



The length, breadth and height of a cuboid are in the ratio 2:3:4. If they are increased by

50%, 100% and 150% respectively then find percentage increase in total surface area of

cuboid? एक घनाभ की लंबाई, चौडाई और ऊंचाई का अनपुात 2:3:4 ह।ै यदि उनमें क्रमशः 50%, 100%

और 150% की वदृि की जाती ह,ै तो घनाभ के कुल पषृ्ठीय क्षेिफल में प्रदतशत वदृि ज्ञात कीदजए?

a)259.6

b)315.4

c)343.7

d)301.2



If each side of rectangle is increased by 13% then its area will decrease by ?

यदि आयत की प्रत्येक भजुा में 13% की वदृि कर िी जाए तो उसके क्षेिफल में की कमी हो

जाएगी? (CHSL 2018)

1.21.69%
2. 13%
3. 27.69%
4. 26%



If the radius of a right circular cylinder is decreased by 10%, and the height is increased by

20%, then the percentage increases / decreases in its volume is? यदि एक लम्ब वतृ्तीय बेलन की

दिज्या 10% कम कर िी जाए और ऊँचाई 20% बढा िी जाए, तो उसके आयतन में दकतने प्रदतशत की वदृि/कमी

होती ह?ै a) Increase by 2.8% b) Decrease by 1.8 % c) Increase by 1.8% d) Decrease by 2.8

%



If each of the dimensions of a rectangle

is increased by 200%, the area is

increased by यदि दकसी आयत की प्रत्यके

दवमा में 200% की वदृि की जाती ह,ै तो

क्षेिफल में की वदृि होती है

(CDS 2017)

(a) 300% (b) 400% (c) 600% (d) 800%



Entry ticket of a cinema hall is Rs.250.When the

price is reduced by a certain Percentage then the

sales of ticket increase by 50%,whereas the

overall collection is Reduced by 17.5%.Find the

percentage decrease in the price of ticket? एक

दसनेमा हॉल का प्रवेश दटकट 250 रुपये ह।ै जब कीमत एक

दनदित प्रदतशत कम हो जाती है तो दटकट की दबक्री में 50%

की वदृि होती ह,ै जबदक कुल संग्रह में 17.5% की कमी

होती ह।ै दटकट की कीमत में प्रदतशत की कमी का पता

लगाए?ं



10% of Mexico’s population migrate to south Asia

10% of the remaining migrated to American and 10%

of the rest migrated to Australia. If the Female

population which was left in Mexico, remained only

364500 find the population of Mexico City before the

migration .if it is given that before the migration the

female population was half the male population and

the ratio did not change after the migration. मेदक्सको की

१०% आबािी िदक्षण एदशया में प्रवास करती ह,ै शेष का १०%

अमेररकी में प्रवास करती है और शेष का १०%ऑथरेदलया में प्रवास

करती ह।ै यदि मदहला जनसंख्या जो मेदक्सको में बची िी, केवल

364500 रह गई, तो प्रवास से पहले मेदक्सको दसटी की जनसंख्या

ज्ञात कीदजए। यदि यह दिया जाता है दक प्रवास से पहले मदहला

जनसंख्या परुुष जनसंख्या की आिी िी और प्रवास के बाि अनपुात

नहीं बिला।



If rate of income tax is increased by 24% and the net income is reduced by 1%. What is

the rate of income tax? यदि आयकर की िर में 24% की वदृि की जाती है और शिु आय में 1% की

कमी की जाती ह।ै आयकर की िर क्या ह?ै



If the income tax is decreased by 26%, a man’s net income increased by %. The rate of

income tax is ? यदि आयकर में 26% की कमी की जाती ह,ै तो एक व्यदि की शिु आय में% की वदृि

होती ह।ै आयकर की िर है ?



In a medical certificate, by mistake a candidate gave his height as 25% more than normal. In the

interview panel, he clarified that his height was 5 feet 5 inches. Find the percentage correction

made by the candidates from his stated height to his actual height? मेत्रिकल सत्रटतत्रफकेट में गलती से एक

उम्मीदवार ने अपना कद सामान्य से 25 फीसदी ज्यादा बता त्रदया। इटंरव्यू पैनल में उन्होंने साफ त्रकया त्रक उनकी हाइट 5

फीट 5 इचं थी. उम्मीदवारों द्वारा उनकी बताई गई ऊंचाई से उनकी वास्तत्रवक ऊंचाई तक त्रकए गए प्रत्रतशत सुधार का

पता लगाए?ं



A salesman is allowed 12 % commission on the sale by him up to Rs. 15000 and

additional bonus of 1% on sale made over Rs 15000. If his total earnings are Rs.

7650. Find the total sales made by him? एक सेल्समैन को उसके द्वारा 15000 रुपये तक

की त्रबक्री पर 12% कमीशन और 15000 रुपये से अत्रधक की त्रबक्री पर 1% अत्रतररक्त बोनस

की अनुमत्रत है। यत्रद उसकी कुल कमाई 7650 रुपये है। उसके द्वारा की गई कुल त्रबक्री ज्ञात

कीत्रजए?

















The radius of a circle in increased so that its circumference increases by 15%.

The area of the circle will increase by? एक वतृ्त की दिज्या इतनी बढ जाती है दक उसकी

पररदि 15% बढ जाती ह।ै वतृ्त का क्षेिफल बढ जाएगा? (a) 31.25% (b) 32.25% (c)

33.25% (d) 34%



The income of A is 40% more than of B. If A got 25% rise is his income and B

got a 40% rise in his income then the percentage increase in the combined

income of A and B is:A की आय B की तलुना में 40% अदिक ह।ै यदि A की आय में

25% की वदृि हुई है और B की आय में 40% की वदृि हुई ह,ै तो Aऔर B की संयिु आय में

प्रदतशत वदृि ह:ै CGL 2018 (a) 28.25 
(b) 34.5 
(c) 24.5 
(d) 31.25











A solid cube has side 19.625cm.It is cut along diagonals of top face to get 4 equal parts.

Find the percentage increase in total surface area of all four parts with respect to original

cube? एक ठोस घन की भजुा 19.625 समेी ह।ै इसे 4 बराबर भाग प्राप्त करने के दलए शीषत फलक के दवकणों

के साि काटा जाता ह।ै मलू घन के सबंंि में सभी चार भागों के कुल पषृ्ठीय क्षेिफल में प्रदतशत वदृि ज्ञात

कीदजये?
a)94.26%

b)100%

c)86.84%

d)75%



A solid cube is cut into two halves by a plane

passing through the two opposite edges(one edge in

top face of cube and another in bottom face of

cube) .total surface area of both halves is what %

more than total surface area of original cubes? एक

ठोस घन को दो त्रवपरीत त्रकनारों से गुजरने वाले समतल द्वारा

दो त्रहस्सों में काटा जाता है (एक त्रकनारा घन के शीषत पर और

दूसरा घन के त्रनचले भाग में)। दोनों त्रहस्सों का कुल सतह के्षि

मूल के कुल सतह के्षि से त्रकतना% अत्रधक है क्यूब्स?

a)47.1% b)53.2% c)41.6% d)50.5%



Two cm of rain has fallen on a square km of land. Assuming that 40% of the raindrops

could have been collected and contained in a pool having a 200m ×20m base, by what

level would the water level in the pool have increased? एक वगत दकमी जमीन पर िो सेंटीमीटर

बाररश हुई ह।ै यह मानते हुए दक वषात की 40% बूंिों को एकि दकया जा सकता है और 200m ×20mआिार

वाले पलू में समादहत दकया जा सकता ह,ै पलू में जल थतर दकस थतर तक बढ जाएगा?

a)2 m

b)1 m

c)4 m

d)1.5m


